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difley - o
SECTION - A
(10 x 10 = 100)

1. (A) @m ea@uieyster wrewraufseT wHMID wresrelsefldr allflgn S:3 SLGWL. @
Czielleo 16% wrewraufsEhd 8% wrewralsepd Csiédl OQupeleeme erafler, Czrsd
Qupm wrewreu wrewrellsafler szaissSmss srewurs.

The ratio of boys and girls in a class is 5:3. If 16% of boys and 8% of girls failed in an
examination, then find the percentage of passed students. (5 Marks)

Tey:
e LOTeOT6Mf 61T 6TevuTamNbBEN® SX LOLHEIG 6160l 06UHSHIH0\HT6TEsuTID
LoTenT6YlgeTed 6TauaIenNdem® 3X LHIGE SHBHGD
@eueurml, CLOTHEG LOTEwTEN] slawTenIBHm® 8X 6163 GUPMIGLILIGHMBSI
SCUTEHI CHTevTUIENL [HFH LOTETTEUTH6TN  6T630T600NEHEND
0.16x5x+0.08x3x = 0.8x +0.24x —1.04x
Boamed CHiFR Gumm remieujsbeien srameniiaama 8X —1.04X = 6.96X

6.96x
8x

=0.87=87%

@pemev 87% Lomemieufeet CHFFE GummIsTTeTeIy.
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(B) Nfleuetiory. eremm @@ soL&srrr 4275 Q& husred aumsE S% BLLID
apuBEng. S% eorud Qup CeuswrHCwefled, Seur WSleacTiqenw ererer aflenevs s
alps Ceuewr(Hidb?

By selling a bicycle for ¥4275, a shopkeeper loses 5%. For how much should he sell it to
have a profit of 5%? (5 Marks)

Siey
BULID = 5%
p-— 10 _.sp
(100 — Loss%)

_100 4575- 4500
95

@uBurg), C.P. = 4500 wmmnio afmolw sorub = 5%

o (100 + Profit%)

sSSP,
yHital 100

xC.P.

1005 4500 = 105x 45 = 4725

2. (A) @m Qurmenst 810 RéwE olppsred HoLss Qemuwbd HCs Qurmenst IS30
D53 hpared gHULL BLL b &wob eafled, Bsl Curmefldr &5 ealamerenws
SITCTOTS.

If the profit earned on selling an article for ¥810 is the same as loss on selling it for
¥530, then find the cost price of the article. (5 Marks)
Siey:

aIpH@& 1: sorud = efiiusnen ellemsv (S.P.) — <iILss ealswsv (C.P.)
QPHG 2: BLLID = SiLds 6lemsv (C.P) — efiBusner efsmsv (S.P.)
DB 1 @6l 60TUD = 6uPHG 2 @6d BHLLID

P=810-C.P.

L=C.P.-530

eorud steatBmev (P)% = B Lib %

810 - C.P. =C.P.-530
2C.P. =810 + 530 = 1340
CP =670
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(B) em Qurmeflsr 155 eprisiu@b m QsTLi gerepugset wempGu 25% wHmD
20% earafled,Dan@ Harmer oGy swrars FerEpUs sFeigsdmens Hmeus.
Find the single discount in percentage which is equivalent to two successive discounts
of 25% and 20% given on an article. (5 Marks)
Siey
@m GQurmeisr Gnfidaiu L sismso T 100
@UGurgl,
PH6eV HeTEmLg 25%
= 25% of 100
=25
IpFHEL HeNMEHLIYSGL 1IME 6lensv
=100 - 25
=75
@retor_meugl SHeimenLly 20%
=20% of 75
=15
27 FetEnUgSGL 1TBE 69660
=75-15
=60
@renih OHTLFFHULITE H6TMEHUYHEHDHEGHE FLOTR &FHMNHHHEV QBNMBH H6TEHLIG.
i Char]g_;e in _pnce <100
Initial Price
_ (100-60)
~ 100
=40%
3. (A) emw JarersHer QsreHow S0% sSHaflssn uGdowu 20% GODSSTO, libS
Hereroness /s <% wrmidlng aefle, g0 Nararsmas srams.
If the numerator of a fraction is increased by 50% and the denominator is decreased by
20%, then it becomes ¥/ Find the original fraction. (5 Marks)
Siey:
eTevtenidend 50% DAHBF HHI6TTeNHI

=x100

. . _ 150
sTeonTOlsmI(LpHH = —— X

100
UGHH6V 20% GHMBHIITETSHI
UGBS0 -5 y
100
6160186,
150
5
100 y
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15
10" _3
8 5
10y
15x 10 _3
10 8y 5
X 3 8 8
—_—=—X—=—
y 5 15 25

(B) Gam, em wysseilafiowu 12% QeorusdneE elporr. Coeb, semg 11200 R&E
Faiseoons aADHmHSTE, Peomud 20% 5 PHBIHBGSHGWL. wussaflafllar IL&s
allemeoenws SreTs.
Gopi sold a laptop at 12% gain. If it had been sold for T1200 more, the gain would have
been 20% . Find the cost price of the laptop. (5 Marks)
Sy

iy beemiaiuisr elemsv X' @Ad @mdbsL (BID

@eorub = 12%

ino,
sfiusnen silemev (S.P.) = C.P. (1+ gain A)j

100
GHHTHH6V HIbemen LIFHuIbGH0
( 12
= X[ 1+—
100
_X[100+12j
100
112
=—X
100

eBusner elsmsv 1200 SAHBIOTS S (HHHT6V
i.e. gX + 1200, suruip 20%
100

20
, e o =X 1+—
ySw, elpuene 6lensv ( 100)

= & X+1200
100

=X 1+£
100

120

=—x
100
120 112

100 100
(4
100
_1200x100
8
= 1500
wigdhsamiaiuisn elsmev 15,000

1200

1200
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4. @nHu srerrssHNGU LoGaun aflumauni afisefldr QmbBsumD @wm eHuTUlihHETer
a@poreTd CaT(HSSILL(NeTerTgl. SDE QL alarssSUULLD aamrs.

aufl au@meumi Bmeuer eufl QBTG | &HES | ZHeomed Caemeu o menel
anfl o culfl arfl | el eurfl P
QU(HLOTEUTLD
(@oLETeilsy) 19 16 9 14 10 32

Income from various sources for the Government of India from a rupee is given below.

Draw a pie chart.

Corporation | Income Excise | Service
Source Customs . Others
tax tax duties Tax
Income (in
. 19 16 9 14 10 32
paise)
Siey:

BHHW DITFIHISHHBHTRN LGOI DT RIS6IT

5. (A) o searg amorersSed 75%xm OCswe Qelflpry. oeufler sbuemd 20%
2 wmADG, SeumD Sememw CFoemear 10% sfladlpry. aefled euflar Cabliiy
cTeuauere #z6aig SHsfaE0n?

A man spends 75% of his income. His income is increased by 20% and he increased his
expenditure by 10%. His savings are increased by (5 Marks)
Siey
IO su(pLoTend 100 b S(hHHL (B0
GlFevey 75
eBlurgl saumrend 20% BB HSIeTen.
eTerBou, UHW! eupomeID = 120
Ggovey 10% B sfHHIsTeNSH
_ 75x110
100

= 82.50
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Gy =120 -82.50 = 37.50
whmsw Gy =100 -75=25
Bodide o@efiy = o0 =22,100=50%

(B) wpgeomd et (pigefled @ BHETSSler waseT Qgrens S% SHafsdps, SIOS5S
SATH 5% Gondng aeafled CsT_sssHe waseT Cgrens erere?
During one year, the population of a town increased by 5% during the next year, the
population decreased by 5%. If the total population is 9975 at the end of the second
year, then what was the population size in the beginning of the first year? (5 Marks)
Sy
OBHT_HHHHEV 2 61161 1DHH6T CGHTeMHBUTET SleTeme)N = X
WHO UGG 5% IDBFHHS! OHYID STELTD AWM 5% GHOBHAIGTENI.

r r
: : b 1 L e =P|1+— | 1-—
Qreih HHTBHBEHDHGL UBEG LHB6T CHTend ( 100)( 100]
5 5
18urgl, 9975 = X[1+— || 1-—
AV ( 100)( 100}
_ 9975x100x100
105%x95
=10,000

6. (A) @m ecrevmrsefler 15.8.0 ey 15.Cu.eu-eflsir 6 wWLESTGD. 15.0U.01 12 LHMID 6T
ereior 36 ererfled, WHBONTT eTeRTENENTE STETITS.
The LCM of two numbers is 6 times their HCF. If the HCF is 12 and one of the
numbers is 36, then find the other number. (5 Marks)
Siey:
@rei(h eleiheren LO.&.0 12 4G

@rewi(B sTetre6Msi GILIhBMUsVET = Sieummiledr 15.0U.6u X Seumpilsir 15.8).0

36 X wBomT@m el = 72x12
LOBOIMT(H 616001 = (2X18
36
=24

LOBOMT(H sTetar = 24

(B) epeirmi Curi@arss spduyseflley 2earer Qpflasr aflers@aer  eaiCeursTmID
eoonGu 40 ealipmgsefl, 60 alpmgsefld wHmb 72 eOBrgsefled eefljlsarmer.
Sjsusllersi@Gaear merggid Hremed 8 wenllaGs spSluysafled garmrs eeflihger aefle,
Beir(Hd jeweu 6TLIGLITG etprs eeflmHid? (5 Marks)
The traffic lights at three different road junctions change after every 40 seconds, 60
seconds and 72 seconds respectively. If they changed simultaneously together at 8 a.m
at the junctions, at what time will they simultaneously change together again?

Siey:
40, 60 wmmIb 72 @6t 18.6L.6u SHerL_ a6
60 efleurmgaeit =1 ML
360 pi_ib =6 PALib
2 | 40,60, 72
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20, 30, 36
10, 15, 18
10, 5, 6
2, 1,6

1, 3
1

WINOTWIN

1, 1,

18.6u.6u (40, 60, 72) =2x2x3x5x%x2x3=360

360 elenmgHEnd@L LUBE Seneu 6Bl LOTMBID

ABHTOUH AW BOLBISHEHSGLU LT8G lemsd L5ewI(BLD LOTBID.
AABHTEUFH BTem6V 8.06 WewH@GH <lemey WeIBID @By CHrH&Hev WrmID.

7. (A) verelyfl, srisHsr woHmbd sevrewd wFw epaumd Cr HArmwsmzs CHiks

Camflser. Qeajser OQeauciCGoum @@Lrizafld GCaumer Oeliflarpery. weogellfl S
BILSEHSH@ @ Weopwb, srisHsr womb sawerdl wepGu 6 wHmw 10
BILSEBSH@ @O Ponwb, Seuigb oSOseps® abg Osdal. Seujser epairbb,
SBCLILF rgD (Ppsed BreT QaMTss FHHSsTis6T eafle, WamHb yeaujser eIGUTE)
QRETONSE FhSILILITTS6T?

Malarvizhi, Karthiga and Anjali are friends and natives of the same village. They work
at different places. Malarvizhi comes to her home once in 5 days. Similarly, Karthiga
and Anjali come to their homes once in 6 days and 10 days respectively. Assuming that
they met each other on the 1st of October, when will all the three meet again? (5 Marks)

Sy
15, 25, 30 @6 15.6L.60 GHevur_pfluleid

5 |15, 25,30
3 | 3,5 6
5 | 1,5 2
2 | 1,1, 2
1,1, 1
8.Gu.e (15, 25, 30) = 5x6=30

30 BTILSEHHGU LUBG Wi FhHDHHMTTH6IT
SAUFH6T ASCLTU | b CHH FhHHH)
SleUfH6T 1B 2ASCLTUF 319D CHEH FhEDHH6T660].
(B) eflevger, wger wHmid GewrGsarsr HACUIT @M el augelleorer eOUTEmGUT6T
owm sHeon epGu 10, 15 wHmp 20 Hblfsefld Dl rysSarpery. SjeauFser
Qgrsan yetaflules amemed 7 wenllag atoraE sHnS CFT_RSleTred, IjeuiseT
Bewr(Hd erIGUNg QgT_ssl yeraflulled gerprss sbSiuriser?
Wilson, Mathan and Guna can complete one round of a circular track in 10, 15 and 20
minutes respectively. If they start together at 7 a.m from the starting point, at what
time will they meet together again at the starting point? (5 Marks)
Siey:
10, 15, 20 @sin 18.61.10
5 10, 15, 20
2 2, 3, 4
1, 3 2
B.8.0 (15,25,30) = 5x 2% 3x2 =60 b
60 PO BisEnsEG0 1UIBEG SUfHeT o[BI FhHLILTTEHST.
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a5Taugl 7 AM + 60 pidkisst = 8 AM
8. Aemw a@uied ullgw SO0 wvreseaijsefld, 10 wreseaufssr Cgrevallubmerry
Seursefler srrefl wHICQUer 2.5. Cwrss wrewraufseflar wLHICLTSaflr Fo(DHIFHO
281 erafled Qeupn) QuHM wrewreufseafler srmefl wHICLET sTevrs.
In a class of 50 students, 10 have failed and their average of marks is 2.5. The total
marks secured by the entire class were 281. Find the average marks of those who have
passed. (5 Marks)
Siey:
ComevalwenLb® 10 wrsmiaufseflsn GOTHS WHICILIGHTSETT
= grrsfl X elevl = QHTend
=25 x10 =25
BmIb 50 wremeufeefsn GorsHg WHIGUmHT = 281
sT6i@6), QLOTHHID 40 LHLIGLETIH6T OB
oremiedfeden 281 — 25 = 256

Copidd OQumm 40 wrseufHeisi FTTFf WHNIG LIS = QoI Sorbob

256

40
= 6.4 HIOLITIH6TT
(B) 122 ,2A2,3/2,472 ,5A2 ,672 ,772 syflweupdleir srreflenw srevrs
The mean of 122 ,2A2,3A2,4A2 572 6A2 ,7/2 is (5 Marks)
Siey:

GLoTd g sTevamenilcem®d

_ n(n+1)(2n+1)

B - &0
_n(n+1)(2n+1)

] 6xn
_(7+D2((7)+1)

# 6

_8x15

6

= 20

9. w3z n Quevetersraafler S _ellevssd srevors.

OHTemad

Fyraf]

Find the standard deviation of the first ‘n’ natural numbers.

D% =1+2+3+...... +n:n(n2+1)
D xE=1 42243 .40 _n(n+1@n+)
P=1P 422+ 3+ 5
mean izlzxi _ n(n+D)  (n+1
n 2n 2

dx (n+D(@n+1)
n o 6

—— Jz (xS

n
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B \/(n+1)(2n+1) (n+1)°

- 6 4

\/2(n+1)(2n+1)—3(n+1)2
12

_ \/(n+1)[2(2n+1) 3(n+1)]

(n+1)(n ) _ f(n —1)

(n’ —1)
12
10. 396, 504, 636 syfweuner 15.Clum.eu Srevurs.
Find the HCF of 396, 504, 636.
Sy
396, 504 @E@ID 636 @6 WIS 2 WIfhs GUTHIGUTEN HTTemiepUld @eurL il
4 | 396, 504, 636
3 | 99, 126, 159

33, 42, 53
B.0ur.ey = 4 Qurgleumen &y eulasiT
=4x3
=12

e160rGou, 396, 504 MMID 636 @6t APHULF GUTHIGUTEN SMFewl 12 DG
11.(A) 2A = 3B = 4C atefled A : B : C Qeir wHliewus Snewors

If2A=3B=4C,then A:B:Cis (5 Marks)
Siey:
2A=3B=4C=k @hBs k — wried erenGeu 2 A= K
K
19 A = —
B 2
@8x»Bursv 3 B =k
B = X
A:B:C
k.k.k
2 3 4
K 9fi$al,
Uma@ A:B:C
1.1.1
2 34
B8.6.0 @6 (2, 3, 4) 12 G
@uBurs, A:B:C
1 1 1

— x12: — x12: —x12
2 3 4

6 : 4 : 3
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(B) &CanemrgSlenr LssRsaflar ellflgn /2:75:74 wHMD G &Hmerey 104 Q&5
e0; ¢ 3. S U] S DD
aefled gigeir Quflu L&sSSler jeTemar HTETITs:

The sides of a triangle are in the ratio Y2:%:% and its perimeter is 104 cm. The length of

the longest side is (5 Marks)
Siey:

1 1 1

2°3°4

18.5.0 @er (2, 3, 4) 12 S
@uBurg, A:B:C

1 x12: l><12:1><12
2 3 4

6 : 4 3
(IpHEHTeTIHH6 LichBhlgb6II6N B SHhIH6T,
ie, 6x 4x :  3X

(pHCaTamIhHedr Fmmena) 104 Ga.16.
6X+4x+3X =104

13x =104
X =8
WsNoUfuw ubsd = 6 X
=6 (8)
=48 Q5.8.

12. o7 eglrsHler gHCGurengw wHOY 1,62,000. igear Cgiorerd yewngnE 10%
steuflev,
D Qream® spemene UinG Sizer wHy ester?
i) @raw® oETeHES Ty Siger wHiy eerer?
The value of a machine depreciates at the rate of 10% per annum. If its present value is
Rs. 1,62,000.
i) What will be its worth after 2 years?

ii) What was the value of the machine 2 years ago?

Siey:

i) Gires : . oo . RY

i) QraB SENBHEHGSGI 1IBE RWHHTHH6T HIIL] = P(]__m)
6TTRIG B,

P — QuibsrsSen speutensw LI
R - supLsHm@ Csiuiorer i sb

N — e[ elemenNbend

SIEHLLT LWsTUBSHHAID,

2
= 162000 1—ﬂ
100

= 162000x 2 x 2.
10 10

=1,31,220
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1 R
10

i) @renh ABBEHHS Wst RUBHTHHe LHOY =

162000

2
o)
100
=2,00,000
13. 25 wAlyseflér srrefl 120 oer sewrsH L (hererg). ey sflurfs@n Curg wHiy
144 @& udleors 169 eter CejssiulLg Yery san® Higss ulL g eefld |,
sflurer spreflenw srevrs
The average of 25 observations is 120. By mistake one of the observations 144 is taken
as 169. Find the correct average.
Siey:
GurmLSerfs OHTenD

FITFy =
4 ﬁ QUL ®erilsl cTenewilcend

SIMOHFH LHLILS6M6T Fal BHOHTENS —HEUBTE O L+ airenLoulmest G

SBCuUTemHW FTTFf =

DM HFH! LOHILIL|SH6IT60 616016 — GHEUBT6N LOFHILIL Gle06m60 + 2 _ERTenLOUITET HILIL| Es06n60

25x120-169+144

25-1+1
_ 3000-169+144
) 25
=119
Aifley - o
SECTION - B

(10 x 15 = 150)

14. gwreafler vrg GGOWLUE Qe £Ops Csr@ssUILL_(DeTarg. SHESG CUTBSSTeT
al L eersslULLD aIemnys.

elleurriseir 2 ewrey | sevell | eur_ems Curs@arss @57 Qseveyser

Qeoeymer (%) | 50% 20% 15% 5% 10%

Gueid,

1. Guwrer ar_amsssrs ‘6000 @ GsevaF QFugTed Iauf sSoellHGHE Clelujb
QFevoemeus srevors.

2. @wreflér Cr$s WIS QIIHLIETD TaalaTe)?

3. sallenw el 2 ewreysE cTeuauare Fswrss CFamad GewSlpmy?

Monthly expenditure of Kumaran’s family is given below. Draw a suitable Pie chart.

Particulars Food | Education | Rent | Transport | Miscellaneous

Expenses (in %) | 50% 20% 15% 5% 10%

Also,
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1. Find the amount spent for education if Kumaran spends ‘6000 for Rent.
2. What is the total salary of Kumaran?
3. How much did he spend more for food than education?

Siey:
efleurruger Qaeveyssir (20) wsSwu Cameverid
2_6W0I6) 50% S0 x 360 =180°
100
. 20 .
BH6V6N 20% ——x360=72
100
15 o
AUTL6NH 15% ——x360=54
100
5
BGurd@euyg 5% ——x360=18"
LITéb(@ 6. SHel 0) o X
@z Cgevame 10% 10 360-36°
100
GLoTHSID 100% 360°

OISTHHT GlFeve) 11.GLoremer @& ®BIDULD

1. QarEselulL Gurst aurLadsE@ 6000 OFeoelho BTy

QrHs GFeveiey 15% = 6000
15 (Guors s Gasvey) = 6000
100 eifs) 6)]
Gl Greve) _ 6000x100
15
= 40,000
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HeveldaTen CFeve| OHTm® = OTHeH CFevelsv 20 %

: %x40000
= 8000
2. @lyefen COTHE FDU6TID = 40,000
3. 2 _auebaTed OFevsl UGB CGHTensd =50 % of 40,000

Bovellenl el 2 _aureybarsd GaFevsipd Gnrens = 20,000 — 8000
= 12,000

15. (A)X3500 syers1 A,B wpmib C &5 A : B = 5§ : 4 wpmd B: C=3:2 eresrmeurmy
udlingeflss LD aaflld B R&@ Csr Ceaemqw ukileners srewrs
Rs. 3500 is distributed in A, B and C suchthat A: B=5:4and B: C =3 : 2, then

calculate part given to B (5 Marks)
Siey:
A . B: C
5 : 4
e Nel—
4, 3) @6 18.5.0 12. B @61 0Hi1emu ommm 12
A OB auls
3x5 :4x3
4x3:2x4
15 : 12 : 8
i A 19ufsdr LIty
B ue9 = GoTHPH CBHTenD X o ——
= 3500 x 2
30
=1200

(B) 3510 sy A, B wpmd C Ré© udlisseflss u@HApg. A eerua; B Qubd
Qzrensuiieds 7 ukiens CQumSlpry wHmd B eearuay C Qumb Qgremasuiler ¥s ukiens
Qumiflpri,aaflled SeuisEnsE® Csr Cauamqw Gsrensssr erpGu

If Rs. 510 be divided among A, B, C in such a way that A gets % of whatB gets and B

gets % of what C gets, then their shares are respectively. (10 Marks)
Siey:
A =2 @6 B
3
1 .
B ) @6 C
A_2 imn B=1
B 3 . C 4
@SUBur s, A : B: C
2 3
1: 4

18.5.0 @t (3, 1) 3 QYSHID
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A : B: C
1x2 :3x1
3x1:4x3
2 3 : 12
A:B: C =2x:3x:12
. . _ . A @6t UBIG
A @6t Ui = Qs GeTend X P——
= 510 x £:60
17
B uler urig = 510 x i:90
17
A 12
C uler Uk = 510 x 52360

16. (A)@m erraer 3:5 etetrp elflgSHed o etener. @eaCerm aarafledimHHD 9
sflsaiulLred Sl ermisefldr alflgn srewrs
Two numbers are in the ratio 3 : 5. If 9 is subtracted from each, the new numbers are
in the ratio 12 :23. The smaller number is (5 Marks)
Siey:
@reor elerdsiT 3 X & 5 X
GmIHG OUmHH6E
23(3x—-9) =12(Bx-9)
69 x — 207 =60 x—108
9x =99
sFAMw etenor = 3 X = 3(11) = 33
(B)em eouufler 25 ewusr ,10 eoust wHpmb 10 evusr Flweneu 1:2:3  ereitp

aflgsHed 2 erener. Coeyd By eouuiled I30 2 etemewr erafled S ewusssafler
sTeruTeullHensenl  STeuTs

In a bag, there are coins of 25p, 10 p and 5p in the ratio of 1 : 2 : 3. If there are Rs. 30 in
all, how many 5 p coins are there? (10 Marks)

Siey:
25P, 10P wmpnp 5P mrewiubiseilsn stentenilbensd pemm6ul X, 2 X, 3X s SmbaLBID.
eeomy, SIS Tl BHOHTeME = mUUTL GIOTHS eHLITUL

25x 10x2x 5x3x 60X
+ + =X—
(100 100 100 j 100
60_X =30
100
X =50

etemBeu, 5P prewiwmiseisn erasemidanad = 3(50) = 150
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17. (A)30 wvewreujsst @M ea@Uller eawgseflar srrefl 30 TS  Coed
aguurdlfluflar awdmerud GCsigsmed 1 yamHast saBFng erafled o Aflufler
QMNSS SHTETS
The average age of 30 students of a class is 30 years when the age of class teacher is also
included, the average age of the whole class increases by 1 year. Find the age of class
teacher? (7 Marks)
Siey:

AFFUWIFHeTI6N UG X DB EHDHBL BID.

Gur L sefs OHTenD

Froay =
4 ﬁ QurpL_aeriledr sTevomenidemed

CarThoselul L Srensl GBs0 o siTem FOGTUTL Q6L LIWGTLBHHSHLD:

30+1 = 30x 30+ X
30+1
961 = 30 x 30 + X
961 = 900 + x
X = 961 - 900
X = 61

(B)em HflsCs ofrfldr 10 o1 risefldr syrefl 38.9 el kiser. Seufldr pseo 6
Gum_yaeflir syrefl 42 UL Riser cefld sl Brarg oL Risefldr syreflenw
STETTS

The average score of a cricketer for ten matches is 38.9 runs. If the average for the first
six matches is 42, then find the average for the last four matches (8 Marks)
Siey:

Gur L serisir GHTens

FITF =
4 m QUL SHerieH sTevTenNHemD

grrefl X QummLsefsd eTenienidm®d = QUL HereN CHTemd
10 @streoimiendenr Teinaeflen &nl BHOHTEemes = 10 X 38.9 =389 runs
WwHev A} SeielimierSs Teiideien gnl (hHOHTeWd =6 X 42 =252 runs

HMLE BreE Eleenhieruderen Tenbemen dnl (BHEHTEND =137 runs
&L Breng Gumiigseien &rmaif = % =34.25 runs

18. (A) pel eretrueuy sewllgsHe 75 D&E 66 wALCLGwsEHD Pellweller 80 RPaE 72
wHiQueTsEepd Qumlarpry cefled , abs uT_SHe sifls wHICLET QUDmIeTTTT2
Ravi got 66 marks out of 75 in Mathematics and 72 out of 80 in science.In which
subject did he score more? (5 Marks)
Siey:

HBULF DHUICUIHMET Floeh GlFuiw
FHNGHMS DIBYINISBE
paflon = 65 PGB 4 (0

SIFBULF DHIICILIGTTH6IT

= 56 100
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anfieluisy = 7—2><100
80

=90 %
sTeu@el, ol HeWIHHMBH 6L Pflefiiedsy UTLHIFMBGH AHH WLHIGLIH6T CUBBTE.
(B) @ ser Ceeuaussdler Beo, s wHmID 2wrd wWeopGu 10%, 20%, wHmbd 20%
sflsfss LHFIng eTafled, 6T Far IjeTay eTeuauare] FHaizb Haf&E0?
If length, breadth and height of a cuboid increased by 10%, 20% and 20% respectively.

Find the percentage change in volume. (10 Marks)
Siey:

I, b, h o1Bwemen ®IFHITHH6 HeMD, UB6VID WBBID 2 WIFIOTH BHHHL BID.

U@ iene) (V) = Ibh cu.unit

@uBurg, |, b, h apenmBui 10%, 20%, 20% P®F ST 66N

v=| 1+L xb 1+r_2 xh l+L
100 100 100

B6TID, SiB6vID BMID 2 WIFD ASwBBmHH WemBBUl FHNHID AHBFHHSHI.

sov=l [1+£}xb{l+£}xh{l+£}
100 100 100
L I110xblZOxhlZO
100 100 100
=1.584 Ibh cu.u
. oene] 58.4% G sfHHIeTeNSH
19. (A)A ereorueuy B gt el 10% fsn erafled B eteiruaur A eweu el eTSHemeu
#geisd Gommey?
If A is 10% more than B, then B is what percentage less than A? (5 Marks)
& jo:
B @er gibusmip X X s G HHBL BID

A @er augporend = X X M ol 10% oiH®ID
A Bt QUBLOTEIHENSHD 601D D BHIBEIT:

10% of x = ﬂ><x
100
_ X
10
A @6t euHLOTEID = X+ =
10
_ 11x
C 10

A @6t aumonasHemnd 6L B @61 aupIOTEIID 616)6)N6T6)| FHEIHID GNBOITH 2 66N
SIGITLIGN &b & 6uTdh HIL_a)|ID:

A meufledt euIOTEISHHID Caupr® =
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(m@mrrsmg’;@a‘o Gougiunr® X 100)

CHemeULITEN &FHeNHID NP

X

_ 10
= 10 x100

10
1

=9_
11

%

B eumiomeonid 91—11% A @61 UBLOTRIHMS 6L EHDBEUTS

(B)@m Ca_umerisefllen_Cu mew Quppm Czizedled Cwrss arsGseflar aemanisms
8400 fled 75%eauns@GHeT Cgveongmal. Cevenssss arsGaefled Geaupnd GuHD
Gaulumery 52% eurd@sener QubmieTermy. cresfled wHH Ceuumery QUOHD QFNNVS5HEH5
arg@seafler erewrenflsans

In an election between two candidates 75% votes were valid. The winning candidate
got 52% of the valid votes. The total number of votes were 8400. How many valid votes

did the other person get? (10 Marks)
& jo:
. . : . . . 75
CFsILIQUITEGHID UTHEGH6N6 eTetemnicdend— 8400 x 00
=6300

LBEBTH BUF CUBB CFEOMILUITGID ITHE D66 cTeuTemNGHNH= %XG?)OO

= 3024 eurd @ ®e6it
Bm erawrsafler Fn(ged 216 Seupdler 15. Qumr. 1 27 eTaflled yBF eTTTHEMETS HTevors
The sum of two numbers is 216 and their H.C.F. is 27. The numbers are
Bijey:
1pHev 15.6ur.el. @ye® eTenibeey 27 UG, 1IBEH ST eTerrdenenUD 278 MEID
27b et601 61(1PSH6VTID

B,
a wnme b Frjusr eeuamd Rmbd GoucniBID
Une.
27a+27b =216
a+b - 216
27
a+tb =8

@UBurgl, FTiUTH eTetumeen Fal BHOHTensd 8 (1, 7) wmmid (3, 5)
. BapemeuuImsnr 6T600T&H 61T
(27 x 1, 27 x 7) wmgp (27 X 3, 27 X 5)
i.e, (27, 189) wmuio (81, 135)
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MODEL TEST - 5 - 13 June 2023 - Answer Key

78, 3156 85 Q&. 15, 12 1§ 95 Q&. f gflu Berhismer SeTHEs Fagqw WsLCLAW
swiflullesr Berid ereTewr?
The greatest possible length which can be used to measure exactly the lengths 7m, 3 m
85cm, 12 m 95 cm is.
B ou:

7 B8=700 Qz.8, 12 15 95 G&.5 = 1295 GF.15, 3 15 85 G&.18 = 385 GF.18

HIMUS GNBHD,

700 — 385 =315

1295 - 385 =910

1295 — 700 = 595

@UGurg,

595)910)1
595
318]695]1
315
2805951

280

35)280)8
280
0

18.0ur.eu et 715, 315 84G&F.18, 1218 95GF.18 is 35 GF.18
50,47,53,48,51,52,49 s flw wiuysss S alewssn sraurs

The standard deviation of 50, 47, 53, 48, 51, 52, 49 is

& jo:

_ 50+47+53+48+51+52+49

- 7

=50
X d=x-X d?
47 47-50=-3 9
48 48 -50=-2 4
49 49-50=-1 1
50 50-50=0 0
51 51-50=1 1
52 52-50=2 4
53 53-50=3 9

> d’=28
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’ FE
S S ellendeiD = Zn

e, d = al60b6Y
28

7
= 4
=2
23.(A)120 QummLlsemer elp@w Gurg 30 GQurmLsefldr alpuemer allemesE &woiwmer
oorud Heo&Hng erafled eoru FHeisn srevTs

On selling 120 things, it results a profit equal to the selling price of 30 things what in

the percent profit? (7 Marks)
& joy:
120 SP =120 CP + 30 SP
@ rhIGs,
SP = aluene 6M6m6V
CP = OILHB 6emey
@uBurgl,
120 SP-30 SP =120CP
90 SP =120CP
90 CP
120 SP

PTG 6flemwev I 90 wBEID eilBusmer eilemsy X 120
DIGHeaTev X 30 60TLID.

. @eomulbd
.. @eoru % = ——x100
L 5B eNeney

E x100
90

33% or 33.3%

(B)1S QummLsst I12 Q& armst u@dps wpnpp 20 CQur@glssr I14 Q&s
alpsuuBFlpg erafled eoru VG BLL FH6igd STewrs
If 15 articles are purchased for Rs. 12 and 20 articles are sold for 14 then find the

percent profit / loss? (8 Marks)
B o:
. . 512
QF6vey eflemev (C.P.) 1 Qumpl sefev ?E

20 QumpLserisi elusne ellewev I 14
1 QurgpL_merflstr SP eretrug X %

HIILBEHHE FIOID,
1CPp = 12x4 _ 3 48
15x4 60
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14x3 _ 42
20x3 60
@niBs, CP>SP, @imenmsv bl L ID

_ BLLLD
T ocp
6

_ 60

= 478 =x100
60

=12.5%

~oplL % x 100

24. (A) gm aiflmsuiieo geowssiuL 11, 12, 14, 18, x+2, x+4, 30, 32, 35, 41 eretp

graseflar Qenflemeo ety 24 erafled x Qeir wHlWLSE STevers.

The median of observation 11, 12, 14, 18, x+2, x+4, 30, 32, 35, 41 arranged in
ascending order is 24. Find the values of x. (5 Marks)
SYDTE

Hy6)deIe elamrenidend =N = 10

N Fowre @HLILIST6,

(g)%m@ o2 miiy+ (%+ 1)%6}]@] 2 miy

. @emLBlemev = )
24 — 5" aeis &@ﬂu;r(fw“@)%wgu 2w
(X+2)+(x+4)
i 2
2X+6
E
(B) @m upeuelewr syrefl wHmd WE® WernCu 66 wHMID 60 SyEGWL. PenLHlened
2I6T6Y SHTEHITS (5 Marks)

In a distribution, the mean and mode are 66 and 60 respectively. Calculate the median.
B ou:
WwsB = 3 QewLpmer — 2 Frmaf]

S G Bleney = % (wpa® + 2 Fyraf)
1
= 5 (60+2x66)
=64
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(C)10 Qsmfleoreriasafler rg aumwreTRsSsT (PeDHGWL:

5000, 7000, 5000, 7000, 8000, 7000, 7000, 8000, 7000, 5000
aeafled errefl, QeoLflener jera),wadH Srewrs.

The monthly salary of 10 employees in a factory are given below :
%5000, X7000, 35000, X7000, 8000, X7000, T7000, X8000, T7000, 35000

Find the mean, median and mode. (5 Marks)
Siey:
CeTBHaUULL LHILSB6T6T FnBH60
gynefl = —— —
CETBHHLIULL IDHIILB6VsN cTetnenlldend

_ 5000+ 7000+ 5000+ 7000+ 8000+ 7000+ 7000+ 8000+ 7000+ 5000

B 10

66000

© 10

=3 6600
Frmaif:

gmefeaulso afmaliuBHsain, 5000, 5000, 5000, 7000, 7000, 7000, 7000, 7000,
8000, 8000
LHIISHerTe  sTememiicend =10

10)" 10 "
@enLBlemsv = grraf (?j LOMBmID K? +1j
= S5l SN BEID 6615 HN6T FrTaif
_ 7000+ 7000
¥ 2
=3 7000
(oG
X 7000 Bewm(pio 5 wpsG-
. apsd® = 7000
(A)X180 ms GMss elmewrsan, I108 g elpumer ellmewrsand OCSsTeRTL b
QurmEnsHE sSmLsarry QPreHs CFTLT SFemepLgsmer eflsSpry. Brewr_meug)
gserenLy. 8% crefled, Wsed FerEpLguiler FH5aisSMmEs STEvNTs. (7 Marks)
A shopkeeper gives two successive discounts on an article whose marked price is Y180
and selling price is ¥108. Find the first discount percentage if the second discount is
25%
B ou:
elBuenen eflsmsv X 108 (SILUILLL &)

WHO HeEpLIgH@GL 1UBE eflensy = 180(1—%]: P -1
uFI . L. _ d2
2% HMEpURSHGL LIBG 6lensv =R 1—m =108

(1) @edmbEl Pl &@ wormpres Brd GumiSEpmd
180 1—i 1—£]=108
100 100
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d2 = 25 er6tiumbmev Brid QumISGMTID,

180[ —ij(l— éj =108
100 100

. (1 d, j_lO8X100_ﬂ

100) 180 75 5
d, 4
100 5
1

d, = £ x100=20%

(PHO GHeEnLy 20%
(B)mauGsdl Qm Cemevsenst geor 32200 Qé&E epprer. oerder Bz 10%
Beorugemswb wHpraTdler 155 12% BLLSmsWD mLbErer eefled, Csenevsaner
alpmHled sjeuefler Corss Georud VG BLLID #Fi55m55 STevurs.
Vaidegi sold two sarees for Y2200 each. On one she gains 10% and on the other she
loses 12% . Find her total gain or loss percentage in the sale of the sarees. (8 Marks)
B jou:
Gaemev 1:

slmusnen 6emev X 2200, eflemev CP1 o4 @mdbal Bib, sortud 10%, BID i
sllsmevsnuid SeiBlgssd Gaus(BID.

ino
L SP = CP1:(1+ gam/ojand

100

SIILSENET  IDTHBISH6V,
2200 = CP{1+ ﬂj

100

cp, = 2200x%0
110

=3 2000

Csemev 2:
slmusnen 6femev X 2200, eflemev CP2 ous @mébal BIo, BULID 12% er6
QUPHISIILIGHBSHI
wSp = chy =
LHILBHEN6N  LOTBBIH6V,

2200 = CP, (1— Ej

1 BEL%

100 ) 1DIDEID

100
2200 = CP,x 0.
110
. CP,=2 2500

CP +CP, @yemgsn sfleneoulid @eiipre o _sisng
=2000 + 2500 = 4500 ---1

@revngedt eNBLENET 6HeNEVUID @EINBTH 2_6TT6NG) = 2200 + 2200 = 4400 ---2
. . _  BLLLD
. pLL % o o 6ﬁmmxloO
= 100 100
4500
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= 2% % (=iv60a1) 2.22 %

26. &eogrerr, @®m Oury SEsTGWled Keataumb CuTmeTEemer eurEIleTTy.  Sjeuf

QeYsHu Corss Prdes Cgrensmus seTsflDHs.

@ 5% &réE womb Crmer afly_esr I800 wHinlleorer W®HHSISET

G 12% sré@ wHmb Csemen auflyLesr I650 wHfeorer PG sTSTLCLITHETS6T
di) 0% &r&E womb Crmer afly_er I900 wHlfeorer Freflwuriser

Av) 18% s&ns@ wHnbd Csemen auflyLer I1750 wHlfleorar sBULS &evTesmTmiy.
W) 28% &néE wHnHD Csemeu auflyLer I28500 wHifeoresr arpmil ugefl (AC)
Sultana bought the following things from a general store. Calculate the total bill
amount paid by her.

(i) Medicines costing ¥I800 with GST at 5%

(ii) Cosmetics costing T650 with GST at 12%

(iii) Cereals costing T900 with GST at 0%

(iv) Sunglass costing ¥1750 with GST at18%

(v) Air Conditioner costing 328500 with GST at 28%

0
P(l GST A)]

i) IomHFHIN OF6v6) BOHTEND
) DBSSI 6| O 00

800| 1+ =
100

_ goox 12
100

=3840

. T %
i) @@ srHen QUT@EHL SH6iT OF6eve)| CHTENd = P(1+ SS Oj

100
= 650 (1+ Ej
100

112

= 650x—
100

=728
i) sralwuhisendara OF6adH OHTmd = 900(1+ %)
=3 900
. . i 18
IV) &Ly seimennmy srewl GFevey Gemens =1750 1+m

=3 2065
. . . 28
V) &TBm uHebsTear 6F606)H0HTeND = 28500(1+ mj
=3 36480
. Qrhse OF6ve] OHTensd =840 + 728 + 900 + 2065 + 36480
=341,013
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